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vrersection of two lines or ARES: the horizontol line, known
s the %-ARIS, and the vertical line, known os the ¥-ARIS.

.r@x; ond y-axes intersect (cross) ot the ORIGIR,
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#n ordered poir gives the coordinates (exact location) of ﬁ_, ”
POINT. They ore colled on "ordered pair" becouse the o,dm_w_
motters, The x-coordinote always comes first, then the .
Yy-coordinate, like so: Cﬂm ). The x- and y-coordinotes 9_8
seporated by o comma ond surrounded by poarentheses.

7Li: The x-coordinote of the oi@.s is 0, ond the
y-coordinate of the origin is also O. So, the ordered pair,
of the origin is (0, 0.

I{ the x~-coordinate is POSITIVE,
move RIGHT from the origin,
I£ the x-coordinote is REGATIVE,
move LEFT from the origin.
I£ the x-coordinate is ZERS,
You'STRY ot the origin.

If the y-coordinate is POSITIVE,
move UP from the origin.
@ . @ If the y-coordinate is NEGATIVE,
move POWH from the origin. .
If the y-coordinote is ZER®,
. you STRAY ot the origin.
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| im coordinate plane is divided into four QURBRARNTS.

>

'QUADRAWT I: QUABRANT I:

| Al x-volves are ’ Ml x-valves ore
negotive (X <0) positive (% >0)
psg all y-valves are 3 ond all y-valves
positive ( Y >0). 2 are positive ( mvov.
ey ! (%, +1)
;-u-e-w-m-: 1 2 3 8 5°%
_QUADRANTIIE: -2 QUABRART IV:

_ All x-valves are -3 Al x-volues
negative (x<0) 4 are positive (x>0)
ond all y-valves are 5 ond all y-volves ore
3@@%2@ ( Yy <0). & negative ( Y <Q),
 (x-y (X, -4
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4 BRAMELE: . Point A is located of

DISTANCE

If two points have the some x-cc

mloooﬁﬂ:&m. we con find the gﬁ_

First, find the difference of the fwo different coordinates
by using subtraction. Next, calculos

_
that number. A

_

of (5,%). What is the distonce be

Point A ond Point B shore the mo;_

9, so we simply find the difference of the x-coordinates,

which is

ordinate or the same | |
fonce between the points. |

e the absolvte valve of:

¥
|
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(Z,9). Point B is _oo&.ma_ ,
tween Points A and @Q W o

vie y-coordinate {which

is
i
|
|

5-2-30r2-5=-3 o

Next, we colculote the ocmthB Vo
or 1-3]), which is 3,

Therefore, Point fi and Point|

I£ you plot Points R ond B, then d

ve of that number (13

B ore 3 vnits aport.

raw o line to oo::mo+ +§_w&

Yyou will mﬁr o horizontal line cmopcmm the y- oooa_sﬁmm 2,@ :

the some. The some _s&soa works
are the some. _‘

i the x-coordinafes ||




